Don't use

g

Stainless steel

FACTORY S silencer

Co0d.308437481

2 Allen screw
M5X12 T.B.E.I.
Cod.201031

2 Plain washer
5x15 Inox
Cod.406580

ART. 14195S

—Carbon clamp FR2
C0d.308448501

Db-Killer 52B
Co0d.308437801

Carbon cover
Cod.083896002

4 Gasket
14x4.9x1.5
Cod.200371

HONDA X-ADV / FORZA 750

SLIP-ON - FACTORY S - STAINLESS STEEL - APPROVED

AlurginiudeSgocer m?;\'/\eéd collar
E _ D.e.27 xd.
E19) 5201 10401 X 36.5 - hole 6.5 Cod.200298
Cod.206384 ) Knurled collar
@ﬁ nUT M8
2 - Co0d.200298
Stainless steel bracket
J\ Purch. Cod. 206385
® Alluminium spacer
) C0d.204321
3 o7 . Allen screw M8X55
Lokﬁq Alluminium spacer 1.C.7.B.
. < Cod.205771 Co0d.200331
- < 2 Short helical spring
® tensile
C0d.303949001
Allen screw
M6X60
T.C.Z.B.
Cod.200515
Alluminium
spacer
Cod.205767

Pipe N°1133

Cod.3014195201

2 Mounting
plate M5
Cod.204555

Strap-in stainless @41

Co0d.300041530




	DT-14195S
	Vista del disegno23
	Vista del disegno26
	Vista del disegno27


